( Z(4th Sm.)-Botany-GI(GEICC-4)/CBCS )

2023

BOTANY — GENERAL
Paper : GE/CC-4
(Plant Physiology and Metabolism)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer any five questions : 2%5

(@
(b)
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®
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(h)

2. Answer any two questions :

(2)
(®
()

Differentiate between Nucleoside and Nucleotide.

Why is ABA called an antitranspirant?

Differentiate between Absorption spectra and Action spectra.

What is Kranz anatomy?

What do you mean by Transamination? JIRLS' CQ\—'LEG’E
What do you mean by apical dominance? Y
What is ‘critical day length’?

What do you mean by plant senescence?

5x2

Write a short note on different types of RNA.
Write a short note on mechanism of enzyme action.

Write a short note on nodule formation in leguminous plant.

3. Answer any three questions :

(2)

(®)

(©

(d

(e)

What do you mean by xylem cavitation? Discuss the ‘Cohesion-Tension theory’ of Ascent of Sap.
What is source-sink relationship? 2+6+2
Differentiate between cyclic and non-cyclic Photophosphorylation. Mention the reactions of Cy
photosynthetic pathway. 446
Schematically represent the steps of Krebs’ cycle with enzymes. What is the significance of
glycolysis? ' 8+2
Write down the physiological role of Cytokinin. Discuss the role of ethylene in ripening of fruits.

6+4
Write the difference between short day and long day plants. Discuss, in brief, the role of
phytochrome in flowering. What do you mean by vernalization? 3+5+2



